JRAENKR2022ER =T EHE=ZKEME R (BFEHE)

1.

1X
BBy =1e0- [ R NA, B8 ™F WERAB, Wans- ()

1
(g,l)

A. (0.1 B. C. ¢ D. &
2.

i
B 1+ EET )

1 V2
A. 2 B. z C. 2 D. 1
3.

. T T
Emy =t pE ST T P wEa T ET T Y it ERERE ()

AT iy AT AT
A cos(x—i—z) B. —cos(x—z) C. —cos(x—i—z) B cos(x—z)
4.
Ei%ﬁ%ﬁ(ﬂ{%}qﬂ, E'.%IJQFU, |“2|=|“1_1|, |“3|=|“2_1|, v |“x|=|“x-1_1|, }rlual"'“z""%""hﬁ"]%
KER C D

QR

A. 0 B. 1 e x D. 4
5.

WHENEEX ~N (2, 88, HP {2<x <4)=03, WP {x <0 = ( ).

A. 0.8 B. 0.2 C. 05 D. 0.4

6.
BRIRT x IAERIx 218 -—x <m MBEANEZES, WL - WERUETEER( )

A m<1 B.m=1 C.m>1 D.m=1

= +
MR, REWMBEC 2 5 WELEL pRcb—A, 3PRIIPREA, o BT HE



